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Topic:- PSY PHD 52

1) Which of the following category is not used for the interpretation of Rorschach inkblot test?

[I:lu&stlm ID = 9156]
Location [Option (D = Sid 18]
- Cunl:eni [Option 1D = 1&&19)
- Dominance [Option B = 36620]
. Determinants [Opticon 1D = 3421)

.hl.-'H—'

Correct Answer -
& Dbominance [Option B = 36520]

2) Ina FxIx2 ANOVA, the number of factors and levels respectively are:-

[Question ID = 9157)

1. 1, 1 [Option 1D - 16622)
I 2, 2 [Option 1D = 16621
3. 1, 2 [Option 1D - 16624)
4 7, 1 [Option 1D « 16425)

Correct Answer -
% 1,1 [Option ID = J6&24]

3) A rank-order test of a difference among three of more dependent groups is called:-
[Question ID = 9158]
- Spearman's rho [Option ID = 15636
- Eruskal ‘Wallts test [Option 1D = 2eE6FT)
. Friedman test [Option ID = 2408
- Repeated Measures AMOVA [Pption 1D = JesT9)

.ﬁl.-'l'l'—'

Correct Answer --
# Friedman test [Option 1D = 18408

4) Company records show
positions are called

br the most important

[Question ID = 9159]

1. Qualification inventomes

[Option 1D = 18830
I. Position replacement charts

[Cption 1D = 2431]
3. Personnel replacement charts

[Cotion 1D = J641F)
4. Expectancy charis

[Cption 1D = 2e41T)

Correct Answer --

& Personnel replacement charts
[Ootion 1D = 2a43F)

5) ImaZx 3 AHOVA, with M =10 in each treatment group, the 55 is calculated to be 378, the value of Mean
SSgerar will bez-

[Question ID = 9160]
1. &

[Opticn iD - 6414]
r 7

[Option ID = 16615]
18

[Opticn iD - J6414]

5. F

[Option 1D = J&617] www.FirstRanker.com

Correct Answer --
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from other categorical independent variable(s).
[Question ID = 9161]
. Analysis of Varanos [Option 1D = 363E)

1
I analysis of Covariance [Option D = 1841%)

1. Multvariate Arelysis of Varance [Option 1D = 3]
4

- Factorial Analysis of Covariance [Option 1D = Té&d1)

Correct Answer --
# Analysis of Covariance [Option D = 164 1%)

7) A retrospective study, called as would select people whe had, or had not, experienced a heart attack
and then ook backward in time to see whether they had been in the habit of taking aspirin in the past,
[Question ID = 9162]

1. Case-Control Design [Option iD= Jédad]
I Randomtred Climical Trial [Opticn 1D = 36643)

3. Cohort Study [Option 1D = Jéded]
4. Bepeated Climical Trial [Option 1D = 18645

Correct Answer ==
& Case-Control Design [Option 1D = i)

8) In Linear regression, the predicted values of dependent variable fall:-

[Question ID = 9163]
1. On the line of best fit [Option 10 = Jeddb)

I_ On cormesponding walues of independent wariables on absciwss [Option 10 = 3647
3. On corresponding values of independent vanables on ordinate [Option 1D = Mbad)
4. On the intercept of Y- axis [Option 1D = 38449

Correct Answer -
# On the line of best fit [Optiog 1D = Jé&es)

) The amownt of i in ¥ that, on the average, accompanies a unit increase in X (when botlh measures are expressed

in raw-soore IJI'III‘_"i} & cal
[Question ID = 916+4]

1. Regression coefficient [Option 1D = 36850

z. Cpefficient of determination [Option ID = 3&51]
1. Standard error of estimate [Option B - 38852
4. Wariance [Option 1D = 36653)

Correct Amswer =-
® Eegression coefficient [Option D = 350

10} In Classical Test Theory, p values, defined as the proportion of persons correctly responding to or agreeing with an
ivem, are used to determine:-

[Question ID = 9165]

1. tem validity [Cption ID - 36454)

I iem difficulty [Option B - 38455)

1. Rem reliability [Opticon 1D = 36656)
4. Ibem variabdlity [Option D = 36657)

Correct Answer --
& [tem difficulty [Option D = 16455)

11) Which of the following is a method for validating a constioct?
[Cuestion ID = 9166]

1. Concurrent validity [Option ID = J6658)

1. Content validity [Option D = 36459)

3. Multitrast multimethod analysis [Option D = J6660]
4. Crosz-validation [Option i = 3Jb661]

Comect Answer -
& Multitrast multimethod analysis [Option 1D = 16660]

12} means having outside vendors or employeses abroad supply services that the compamy’s own

employees previously did in-house,

oo = teT

1. Delegating [Option 1D = MhbaT)
www.FirstRanker.com

2. Contracting [Option 1D = J5&&T)

T Ufihoring [Optce 10 - J5E56]

4. Becruiting [Opticn 1D = 1&645)
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13} An employee refused to obey a supervisors' order to meet with him wunless a union representative was present at the
meeting. As a result, the employee was discharged and subsequently filed a grievance protesting the discharge. This is a

case of:-

[Question ID = 9168]

1. Insubordination [Option D = Didbbb)
I Lockout [Option |0 = 18467

3. Abzenteetsm [Option 1D = TiasE]
4. Impunction [Option I = J6669]

Comect Answer -
# Insubordination [Option 1D = Tédbib)

14) Ina scale, stimuli (Lest items) are presented in order of increasing extremensss.
[Question ID = 9169]

1. Thurstorme [Option D = 16670]
2. Likert [Option i = 36671]

3. Osgood [Opticn ID = 36672]
4. Guttman [Option ID = 1&4F1)

Correct Answer -
& Guttman [Option ID = 2&&T1]

15) calculates rater agreement in a fairly narrow circumstance, Specifically, two judges place a number
of stimuli into nominal categories,
[Question ID = 9170]

1. Eendall's coefficient of concondance [Option 1D = 3&&74)
z. Cohen's Kappa cosfficient [Option ID = 3&&4TS)

1. Inter-observer coefficient [Option 10 = J84T6)

4. Spexmnan’s mteragruﬂmtl[thun D = 3667T)

Correct Amswer =-
# Cohen's Kappa cosfficient [Option 1D = 164T5)

is the correlation between the extracted factor and variable.

16}
[Question ID = 9171]
1. Communality [Option D - 368 78]
I. Eigen valwe [Option D = 36479)
3. Factor loading [Option D = 3a680]
4. Specificity [Option 1D = 16581)

Correct Answer ==
® Factor loading [Option D = J5680]

17} Which of the following cannot be used to describe the spread of values in a distribution of data?

[Question ID = 9172)

1. The range [Option D = J6682]

I Measunes of variability [Gption 1D = 1&683)
3. The standard deviation [Option 1D = Mb84)

4. The mean [Option D = J8485]

Correct Answer -
# The mean [Option 1D = TaSE5)

18) In an experimental study, when the inferential statistics indicate that the experimental group's score differed
significantly from the control group's score, it can be concluded that:-

[Question ID = 9173]
1. The difference between the groups can be attributed to chanoe [Option 1D = 36688)
z. The difference between the groups can be attributed to the treatment [Option 1D = J6687)

1. There are no differences between the groups [Option 1D = J648H)
4. The differsnce between the groups arises from the individoal difference among the participants. [Option 1D = 3689

Comrect Amswer --
# The difference between the groups can be attributed to the treatment [Option 1D = J6887]

19} The correlation between a natural dichotomous variable and continuous variable is called:-

[Question ID = 9174]
1~ Biserial correlation ﬂptn:rl m
I. Poink bivenial correlation [Option 1D = 1&851] FirstRanker.com

1. Tetrachoric correlation [Option 1D = 1669F)
4. Phi- coefficient [Option 1D = 36&93)
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[Question ID = 9175]

1. There is a universal grammar.
[Option D = Dadsd]

I. Larquage acquisition is genetically wired.
[Option D = DE&%S]

3. There is an innate modular language.

[Option D = Jdda]
4. Larguage acquisition is based on reinforced bearning

[Option ID = 16457]

Comrect Amswer --
* Larguage acquisttion is based on reinforced kearning

[Option ID = 16457]

21) Which af the validity scales of MMPI-2 can be used to correct people's tendency to under report as they fear being

judged or deny hawing any problems?
[Question ID = 9176]

1. L-scale [Option D = J849E)

2. TRIM scale [Option ID = 16684

3. VRN scale [Opeion 1D = 3S700)

4. K-scale [Option ID - 36701)

Correct Answer --
# E-scale [Option 1D = 38701)

22) The smallest unit of s h that convey meaning is called:-

[Question I = 9177
1. Fhonemes [Option 1D = J16703)
I. Lexemes [Option D = 36703)
3. Syntax [Option b = DaT0L]
4. Morphemes [Option 1D = 36

Correct Amswer =-
# Morphemes [Option D = 38805

23) Thomas Kuhn's major contribution was in delineating the robe of -
[Question ID = 9178]
1. Walues and corsensus in science [Option 1D = 36708

I. Errors inoscience [Option 1D = 36707]
1. Gender in science [Option 1D = 16708]

4. Money in science [Option 1D = 357059

Correct Amswer =-
& Valses and corsensus i science [Option 1D = J&M0)

24} Paul Feyerabend speaks in favour af:-
[Cuestion ID = 9179)

1. & pluralistic vision of science [Option 1D = 36710]
I & wriversal vision of science [Option 1D = 36711)
3. ‘Western science [Option 10 = 36F1Z)

4. Modem soience [Option 1D = J6711]

Correct Answer --
® 4 pluralistic vision of science [Option 1D = 36710

25) Feminist psychology is mainly concerned with:-
[Question ID = 9180]
- Critigquing mainstream psychology [Option 1D = 36714)

1

I_ Creating emnployment for women prychologsts [Option 1D = 36715)

3. artacking patriarchy [Option 1D = 36718)

4. Lemding women a woioe and the construction of a fermale poychology [Option D = 36717)

Coicach AR
# Lending weomen a woioe and the construction of a female pwrmnlﬁ‘ [Option D = 36717

tRanker.com

26) In gualitative research, one of the suggested approach to establish validity of research process is:-
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I_ Homocidacity

[Option D = 3&T1%]
1. Triangulation

[Option 1D = 6720]

4. Concumerce

[Opticn iD - J6T21]

Correct Answer --
# Triangulation

[Opticn iD - 36T20]

27} The subjectivity of researcher is the source of contamination of data in
[Question ID = 9182]

1. Psycho-historical research [Option I = 16732)

I. Marrative Analysis [Option ID = 1&FX1)

1. Experimental stisdies [Option 1D = 36724]

4. Dscourse analysis [Option 1D = 3&7F5)

Correct Answer --
- E-lncnrnerrul. stincties ||'.'I|:|trur|.ID J!.]'l-l-]

28} The objective of generalization of research findings are better achbeved in
[Cuestion ID = 9183

1. Phenomerological perspective [Option I = 16728]

1. Thematic analysis [Option 1D = 3TFIT)

3. Qualitative research [Option 1D = 36728]

4. Quantitative research [

Correct Answer --

® Quantitative research [ I = 36729]

29) behayiowr s that aspect of bulimia in which an individual eliminates food f the basdy by such
FREasures as vamiting, ng laxatives, diuretics, of enemas.

[Question ID = 9184)

1. Purging [Option ID = 3&70]

I_ Regurgitation [Option ID = 363731
3. Belching [Option 1D = I471X)

4. Bruxizm [Option I = 36713]

Correct Answer -
& Purging [Option ID = 1&730)

30) The analytic process by which concepts to observed data and phenomena are attached during grounded theory

research is called:-

[Question ID = 9185]
- Open coding [Option 1D = 14734)
- #ial coding [Option D = 16715)
- Metwork coding [Option I = 36734])
- Specific coding [Option 1D = 36737)

.h-l.-h-—-

Correct Amswer :
L l:':hen cnd'rg [l:':lnl:m 0 = J-E-Il-l]

31) An act in which a person who is no longer present is copied by children who have witnessed a similar act is called
[Question ID = 9186]

1. Mental representation [Option D = 34738)

I. Dederred imitation [Option 10 - 36729

3. Object permanence [Option D = 36740]

4. Symbolic representation [Option 1D = 36741)

Comect Answer -
#» Deferred imftation [Option D = 36739)

32) The process of relating codes (categories and concepts) to each other, via a combination of inductive and deductive

FEISOTIE T

[Question ID = 9187]
1. Asial cading [Option I - 36742] www.FirstRanker.com

I Open coding [Option 1D = 1&6743)
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® Auial coding [Option 1D = 1674%)

33) The symbelic interactionism paradigm is a theory that emphasize the:-

[Question ID = 9188]
1. Relationship among individuals in the sooety

[Cotion 1D = 34744

I. Excharge of meaming throush language and symbaols
[Cotion 1D = J&T4T)

1. 'Way in which people make sense of their social workd

[Cotion 1D = J&T4E)
4. Al of these

[Option ID = 16749

Correct Answer -
& Al of these
[Cotion 1D = 16749

34) The attitude of attending systematically to the context of knowledge construction, especially to the effect of the
researcher, at every step of research process is referred as

[Question ID = 9189)

1. Beflexroity [Option 1D - 14750

I Reflectivity [Option 1D = 34751)

3. Befractivity [Option 1D = 36752]

4. Beliability [Option D = 14F51]

Correct Answer -
» Reflenvity [Option 1D = 36750
35) When leaders go beygnd their own sell interest and focus an apportunities to help followers grow and develop is called
leadership.
[Question ID = 9190]
suthentic [Option ID = 36754

1.

I_ Democratic [Option 1D = 36755]

3. Servant [Option 1D = 36756)

4. Transformational [Option 1D = 38F5F)

Correct Answer -
#® Servant [Option 1D = 36756]

36) When bargaining is operating under the assumption that one or more can create a win-win situation, it is known as:-

[Question ID = 9191]

1. Distribution [Option 1D = 36758)
I Integrative [Option iD - 34759)
3. Retributive [Option ID = 16760]
4. Summative [Option 1D = 36761

Correct Answer --
& Integrative [Option 1D = 26FE9)

37) The benefit of using 2-way ANOVA over multiple 1-way AMOVA is

[Question ID = 9192]

. Moderation effects can be aralysed [Option D = 16782]

- The power of the test cani be increassd [Option 1D = 373)

- Multiple comparison of means can be made [Option 1D = 3676d)
. The ermor variance can be reduced [Option 1D = 3&7&5)

i e P ==

Comect Answer -
& Moderation effects can be aralysed [Option D = 167632

38) The number of treatment groups in a 3 x 4 = 4 factorial AMOVA will be

[Question ID = 9193]
1. 11 [Option ID - 36766]

3. 12 [Option ID - 36768]
4. 4 [Option 1D - 36768] www_FirstRanker.com

Correct Answer -
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[Question ID = 9194) www.FirstRanker.com www.FirstRanker.com
- Span of control [Option 1D = 36T70]
- Power of the manger [Option ID = 34771)
. Uity of command [Option ID = 1&FFY]
. Buthority of role [Option 1D = 16771)

.hl.-H—-

Correct Amswer =-

# Span of control [Option D = 38770]

40) Backward masking in behavior therapy refers to
[Question ID = 9195]

. Bemoal of the reinforce after effective backward chaining of a befavior [Option 1D = 16774)

- The ability of a stimulus to interfere with perception of a stimulus presented just before ft [Option D = 34775

1

X

1. Promptirg of a resporse befiore the actual training [Option 10 = 36TR6)

4. Bemoval of a reinforce following maladaptive responding [Option 1D = 36777

Correct Answer --
# The ability of a stimulus to interfere with perception of & stimulus presented just before ft [Option 1D = 36TTS)

41} The concept of “bracketing” is introduced as a method of demonstrating validity in the research method of

[Question ID = 9196]

1. Femimst methods

[Cotion 1D = J&TTE
I Harrative analysis

[Option iD= 24T
1. Phenomenological study

[Ootion 1D = J&TED)
4. Cooperative |Inguiry

[Opticn iD - J6TE1]

Correct Answer --
# Phenomenological study
[Option iD= 4FED)

42) Which of the following is an inbernalizing trait?

[Question ID = 9197]
1. Detachment [Option ID = 167X
I. Mhsinhibition [Option 1D - 34783

1. Antagonism [Opticn 1D = 34TES)
4. Psychopathy [Option I = 36785]

Correct Answer --
& [isinhibition [Option 1D = 3TET)

43} Which of the following principle is NOT an example from Cognitive Behaviowr Therapy (CBT)?

[ﬂuﬁthﬂn ID = 9198]

. Rationalism

[Ootion 1D = J&TEL)
I Collsboration

[Option il = D&TET]
1. Guided discovery

[Ootion 1D = J&TEk)
4. Pragmatic eclectictsm

[Option ID = J4FES
Correct Answer --
# Pragmatic ediecticsm
[Option iD= J4TE
dil Delichenics

[Question ID = 9199]
1. State of perceptual anomaly [Option 0 - 36730]  'WWW.FirstRanker.com

1. Dream-like ecstatic state [Option 1D = 36T92)
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45) The human science movement was part of the

[Question ID = 9200]

1. Benaissance

[Ootion 1D = 1475
I. Noturwisserschofien

[Option il = D&FES]
1. Counter-enlightermnent

[Ootion 1D = 24T
4. Scientific revolution

[Opticn 1D - 16757]

Correct Answer -
#» Counter-enlighterment

[Opticn iD - 36754]

46) While doing the gualitative research, the knowledge symbolize our sense of their meaning in movement, sound, color
and shape and story is often referred as knowledge.

[Question ID = 9201]

1. Experiential [Option 1D = 16758

¥, Practical [Option I = 36799)

1. Propositioral [Option 1D - 36800]
4. Presentational [Gption 1D = 3&&01)

Correct Answer --
& Presentational [Option D =

1

47) Which of the following diagnostic criteria has been developed by Mational Institute of Mental Health, USA?

[Cuestion ID = 9202 )
. Besearch DMagnostic Criteria [Option 1D = 3680T)

- Dagnostic Statistical manual|[Option 1D = J&801)

- International Classification of Diseases (Mental and Behavioural Disorders) [Option 1D = 35804)

. Besearch Domain Criteria [Option i = 36805)

.hl.-H—-

Comect Answer -
# Research Domain Criteria [Option 1D = 36805]

48) Robert Siegler uses the metaphor of to explain his Madel of in which children
generate a variety of strategies testing the usefulness of each. With experience some strategies are selected, become more
frequent and survive, Others become less infrequent and die off.

[Question ID = 9203]

1. Matwral selection, strategy choice [Option 1D = 16806)

I_ Strabegy choioe, natural selection [Option 1D = 36807)

3. Survival instinct, adaptation [Option 1D = 36808)

4. Adaptation, survival instinct [Option 1D = 36809)

Correct Amswer -
® Hatwral selection, strategy choice [Option 1D = 36804)

49) Children have an impressive , @5 a result of which long before they start to talk, they acguire a stock of
speech structures from which they later learn meanings.

[Question ID = 9204)
1. Discriminatory leaming practice [Option 1D = 3&E10)
I. Sratistical kearning capacity [Option iD= 36811

1. Pre-gmynitactic learning capacity [Option 1D = 35812)
4. Peroeptual discrimination capacity [Option 1D = 3681 3)

Correct Amswer =-
& Statistical kearning capacity [Option iD= 35811

50) Which of the following statements about correlation coeflicient is not true?
[Question ID = sm.'.]

1. C range trom - + prion 10 = G814

I_ A correlation of - I]l:ﬂ.mngerﬂ'mr.hecmhmuf ﬁl%% ﬂﬂrﬂ'ﬂl‘“

3. A comelation of - 90 and + 90 is equally strong [

4. Megative correlation MEeans ohe SCores are higher and other Cores ane lower [Option I = J6817]
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